2 EXCELYEARS 9 & 10 ADVANCED M

Circle geomeilry (OPTION 5)

: UNIf 5: The angle in the alternate segment

" Question1  Find the value of the pronumeral,
. ‘ | L o

&/ ch.12,128, p. 191
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Circle geomeiry (OPTION 5)

UNIT 6: Further properties of a circle

QuesTion1  Find the value of the pronumeral. All measurements are in centimetres.

QuesTion2  Find the value of the pronumeral. All measurements are in centimetres.
a b

QuesTioN 3 Find the value of the pronumeral. All measurements are in centimetres.

a P x b
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. _ = Ch. 12, 12,11, p. 193
UNIT 7: Deductive exercises related to the circle

Question1  Find the value of the pronumeral.
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QuesTION2  Find the value of the pronumeral.

B
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Circle geometry (OPTION 5)

UNIT 8: Miscellaneous questions

Questiond  Find the value of the pronumeral.

QUESTION2  Find the value of the pronumeral. -

QuesTion3  Find the value of the pronumeral.
a : b |
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Answers

5 a 953cm b 1359cm ¢ 10.58¢em 6 a 36°52 b 6723 ¢ 61"’56" 7 a x=4.65m b ’x—9580m,p—13890m

Page 601 a-05.b -064 ¢ 058 d -0.67 e —0.17.f -0.87 g 3.06 h 045 i -0.10 2 a 60°120° b 41°25 ¢ 120° & 14
e 60°42 f 120°25 3 a 55°26,124°34 b 122709 ‘¢ 37°33 d 121204 a 223°03,316°S7 b 300° ¢ 291°15 d 299°39
5 a sinl20° = 0.8660, cos120° = —0.5, tan120° = ~1.7320 b sin198° = ~0.3090, cos198° = ~0.9511, tan198° = 0.3249 ¢ "sin300° = ~0.8660
¢0s300° = 0.5, tan300° = ~1.7321 d sin70° = 0.9397, cos 70° = 0.3420; tan 70° = 2.7475 e sin290° = ~0.9397, 052907 = 0.3420, tan 290° = ~2,
f sin320° =-0.6428, cos320° = 0.7660, tan320° = -0. 8391 6 .—0.6614,~1.1339 ' S :

Page 6% 1 a 944cm b 1191em 2 a 35° b ‘75 3 a 312m b 213m 4 a ZC= 70°b 742cm,c--1216cm b £2C=6(
a=12cm, b =124 cm

Pace 62 1 a 108imb 1929cm 2 a 39° b 117° 3 a 13cm b 96cm 4 a c=11.lcm, ZA=51" 17 ZB = 68°4%
b LA=47°31, LB=T9728, LC= 53°01 : : :

PacE 631 a 77c® b L5cm? 2 a 193mn2 b 201cm? 3 a 895cm? b SOIScm’ 4 a 346cm2 b 33.3cm?
PAGEG4 1 794cm? 2 39°3 a 62m b 4Im 4 b 13942m ¢ 131.0lm
Pace 65 1 C2B3A4D5A6D7B8B9A10B

Pace 66 1 4 2 1.6401 3 5.1468 4 0.0487 5 27533 6 0.0188 7 202762 8 13736 9 -0.8660 10 14°22,165°38 11 184c¢
12 303 cm? 13 LC=T72°,b=596cm, c= 1207em 14 £A=17°, LB=138%b= 2058m 15 /A =36%33,4B=6827,c=146cm

-

PAGe 67 1 a %9cm b I8cm ¢ 63cm 2 a 90° b 90° ¢ 90° 3 a 85° b 50° ¢ 120° 4 a x=5cm b y=7cm ¢ a=1
E a ON=6cm b OM=9cm ¢ AB=21lcm .

PAaGE 68 1 a 4=40° b m=70° ¢ x=30° d y=90° e m=n=35" £ x=y=15° 2 a a=30° b a=b=40° ¢ x=15°y=35
d m=90° e y=y=90° f n=90° 3 a x=110° b a=60°6=120° ¢ @=35,b=55"

PAGEG9 1 a x=90° b y=90° ¢ a=90° 2 a a=50° b x=35° ¢ m=30°3 a g=14cm b h=2lcm ¢ 9cm 4 a x=]
p=165° b y=7Tem,m=60° ¢ a=20em,n=50° 5 a a=5b=90°%c=140" b m=1=00°n=130° ¢ x=y=90°p=120°

PaGE 701 a 2=92° b y=70° ¢ a=115° d p=75°%¢=120° e m=95,n=89° f a=94°5h=93° 2 a x=120°y=60° b a-:
b=95° ¢ m=110°n=70° d a=105%0=75" e r-115°,y 65°,a=91° f a=80°0=100°%¢c=105° 3 a x=T75%y=83° b m=9
n=87°,p=83" ¢ a=80°%c=100°b=160°

Page 71 1 a m=50° b a=45 ¢ x=30° d x=48°y=60° e m=35°,n=70°p=75° £ x=50°y=70° 2 a x= 135°,y 25¢
b a=65"b=65"¢=65 ¢ x=70°y=80° d a=25°b=75" e a=55°,b=110° f m=n=40°

PaGE 721 a x=2 b y=2 c a=5 d m=4 2 a x=3 b y=1c a=3 d m=4 3 a x=6cm b a=229cm
PaGE 73 1 a a=20° b x=40° ¢ @=52° d a=140°5=40° 2 a m=101° b x=30°%y=60° ¢ a=37°b=68°c=75" d x=35%y

PacE 74 1 a x=8cm b a¢=90° ¢ x=85° 2 a m=48° b a=b=50° ¢ ¥=90°3 a a= 90°by 20° ¢ x=9%cm 4 a m:=
n=115° b x=70°y=110° ¢ m=85°n=85" 5 a.x=30°y=75* b x=3 ¢ x=12

Page 751 B 2B3B4B5D6CY7BSC9C10B

Page 76 1 120° 2 90° 3 equidistant 4 equal 5 bisects 6 .centre 7 double 8 rightangle 9 equal 10 suppiementary 11 90° 12
13 parallel 14 right 15 right ‘ !

Page 77 1 c,e,f 2 a 3,6x3,6,7 b 3,4x%,4,-2 ¢ 585,80 d 85‘( 5-3 e 3,9:%,9,5 f 4,x%,1,-5 g29r 9,-8
h 3,252 i 56:°,69 3 befigsh 4 a PID=1LP3)=11,P@)=5 b PO)=3,P1)=4,P(-1)=2 ¢ P1)=6,P(2)=4,P(-5)=
d AO)=0,f1)=2,H=12 56 a 5 b 6

PagE 78 1 a 5x%+3:%+2x-8 b 4x2e2x2 +14x=9 ¢ 6% +12x* +x2 +9x d 3x%+9x2 +1lx-3 e x° +8x* +7x -9

£ xt20x?_8x2-2x+416 2 a P4t —Tr+2 b 3P +xtixdt6xtaxal ¢ 2% 40x%+3x-5 d 3x° 42 +8x7 - 9x+18

e A ax o430t 42x46 f 3x7+14x%-8x+7 3 a 2x*+x+2x7 +9x-15degree=4 b x* +x* +10x? + x—4,degree =4

¢ 5x3+2x2—10,d;:gree=3 d 6x3-+7x2—x—9,dcgrec=3 e x4+x3—611+16x,degree=4 f o5yt +idx? - x -2, degree =3

g 8x* +3x* +2x% + 2x 4 6,degree = 4

PAGE 79 1 a +*-3x"-8x+10 b 3x*-2x +6x-4 ¢ 6x*-5x'-15x7+43x d 2x°-5x*-2x"-x o 8x"+8x+4

f ooyt a5yt o Txle3x+13 2 a 200 ~x2+11x-16 b Tx° —x* 443+ TP ~x-2 ¢ 3% -2x?1+5¢-7 d 7x° -xt 4337 +6x7 -7
e —Tx-x'+x +5xt +4x-9 £ -’ -x"-6x+9 3 a 3x'+x’-dx-ldegree=4 b 5 +4x? +2x-10, degree = 5

c 8x* llx +7x+2,degree=3 d x* —4x% +11x* —7x,degree =4 e x° .3x° -9x? $13x -3, degree =5 f 6x° ~2x* —3x -1, degree =
g 8x ~x? 4 81— 11, degree =3
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